Scottish Enterprise Economic Impact Guidance


Spatial Impact

	Spatial impact relates to the calculation of impact estimates for different geographies.   SE usually estimates impacts only at a Scottish level given that it is a Scottish economic development agency.  However, there may be times when estimating impacts at a local, sub-Scotland level is required. 


Why is it important?

SE’s remit is to help achieve the Scottish Government’s overarching purpose and objectives for the Scottish economy.  However, there may be instances when SE is involved in interventions that are targeted at specific parts of Scotland.  These are most likely to be ones aimed at the regeneration of particular localities.  In such instances the prime rationale for intervention may be on equity grounds.  One implication of this is that issues that may limit the net impact of an intervention at a Scotland-wide level (for example displacement) may be less of a factor at a local level.  
This suggests that at times the impacts of interventions may need to be estimated at:-
· A “local”, sub regional level which is likely to be of interest for spatially targeted interventions, for example a local authority area; 

· The “regional” level, for example the Highlands and Islands or “Lowland” Scotland ; and/or

· The national, Scottish level, which tends to be the case for the vast majority of SE’s interventions. 

How can different spatial impacts be calculated?

In general, the principles and techniques of impact assessment are consistent regardless of the level of spatial impact of interest.  Indeed, some component estimates will remain constant regardless.  The main issues lie in the calculation of:-
· Leakage. Care is needed to ensure that the definition of leakage applied is consistent with the level of spatial impact.  So, for example, if examining the impact of a business support intervention on a specific local area then the focus should only be on the gross and net impacts for businesses based within that area.  The smaller the area then the greater the probability that impacts will benefit areas outside of it as, for example, employees may live elsewhere;  
· Displacement. The extent of displacement will depend on the level of spatial impact.  It is generally the case that displacement will be higher for larger geographical areas as it is likely that competition will be greater in these areas.  For example, whilst a biotechnology firm based in Dundee may have few competitors in the city, it could have many more elsewhere in Scotland.  Hence, separate displacement assessments will be required for each level of spatial impact presented; and 

· Multiplier effects.  The value of both supplier linkage and income multipliers will vary depending on the level of spatial impact, with it generally being the case that they are higher for larger areas as suppliers are likely to be spread over a wider area whilst induced spend will likewise be more dissipated.   

Of these issues, a lack of area-specific multipliers is the main data constraint that will be faced in spatial impact assessment.  Secondary data on multipliers are generally only available at the Scottish level (although there are some “local” multipliers available from ad hoc studies of specific local economies). 

The impact of adjusting multiplier
Some indication of the impact of different spatial scales on multiplier values can be found in the work commissioned by the Department for Business Innovation and Skills from Cambridge Economic Associates
.  Table 1 shows the differences in multipliers at the sub-regional and regional levels.  What can be seen is that although there are differences, these tend not to be great and are not always in the same direction, depending upon the type of intervention being considered.
TABLE 1

Differences in Multiplier Values at Different Spatial Scales
	Type of Intervention
	Spatial level median multiplier

	
	Sub-regional
	Regional

	All categories
	1.21
	1.43

	Business development and competitiveness
	1.20
	1.50

	Regeneration through physical infrastructure
	1.32
	1.39

	People and skills
	1.40
	1.30


Source: Tables 7.1 and 7.2, op. cit

How can multipliers be “adjusted” for spatial impact?

There are various approaches for adjusting multipliers, and most will require a degree of judgement.  It is also the case that although the Scottish multipliers are Industry/Product Group averages and are Scotland–wide (all of which may limit their relevance to particular companies or geographical areas) they are based on the full complexity of the economy with the relationships being modelled through many interaction “rounds” (MULTIPLIER LINK).  This is rarely the case with local multipliers which, at best, are likely to be based on one “round” so may underestimate the indirect and induced effects of interventions.  
However, if it is felt that these should be adjusted then, unless there is more specific evidence on which to base these adjustments, one approach is to make a pro rata adjustment based on the proportion of the Scottish business base that the area of interest contains. Appendix 1 outlines how this can be done using a worked example.
Need more help?
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Appendix1


Adjusting Multipliers
What is outlined here is a simple way of adjusting multipliers based on the proportion of the Scottish business base that the geographical area accounts for.  The assumption is that the smaller this proportion is then the greater the likelihood that the indirect and induced benefits of an intervention will accrue to areas elsewhere in Scotland.  

The approach is demonstrated for the Type II GVA multiplier.  Exactly the same adjustments can be made for any other multipliers.  The approach is:-

· Select the appropriate Type II GVA multiplier for the relevant Industry/Product Group;

· For the geographic area of benefit calculate its share of the Scottish business base; and; 
· Apply this “share” to the Scottish level multiplier using the following formula:-
SLi,a = [(SLi,s-1)*(BBa/BBs)] + 1

Where:-

· SLi,a is the supplier linkage multiplier for sector “i” in area “a”;

·  SLi,s is the Scottish level multiplier for that sector; and 
· BB is the business base (a for area a and s for Scotland. 
To show how this could work we will look at a furniture manufacturing company (Industry/Product Group 44).  The Type II GVA multiplier for this Group is 2.1
.  The company is based in Glasgow.  In 2011 there were 18,010 active enterprises in the City and 155,653 in Scotland
.

Thus:-

· SLi,s is 2.1;
· BBa is 18,010; and
· BBs is 155,653.
We can then substitute these values in the formula:-
SLi,a = [(2.1-1)*(18,010/155,653)] + 1

SLi,a =1.13
In this example the Type II multiplier to be used would be 1.13, rather than 2.1.

Clearly this is a very simplistic adjustment, albeit it has the benefit of being based on the full Input Output tables.  If the geographic distribution of the sector is known then these figures could be substituted for the business base which might provide a sectoral adjustment of greater relevance. 
� http://www.berr.gov.uk/files/file53196.pdf


� � HYPERLINK "http://www.scotland.gov.uk/Resource/Doc/919/0110399.xls" ��� http://www.scotland.gov.uk/Resource/0042/00425586.pd


� � HYPERLINK "http://www.ons.gov.uk/ons/publications/re-reference-tables.html?edition=tcm%3A77-283124" �http://www.ons.gov.uk/ons/publications/re-reference-tables.html?edition=tcm%3A77-283124�
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